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¢2BALANCING EQUATIONS Name _ F5e ..

Balance the following chemical equations.

1.QNa + I, = 2 Nal

2

222N, + 0, = gNoO

30N, +3H, - JNH,

4. CH, +30, = cCo, +2.H,0

5.OK + Cl, = JKCl + I

6.08 +20, — 2580,

7. 0H,0, - OHo + o,

o JNa +)HO — _JONaOH + H,

9.~ H,0 - O H, + O,

10. JKCIO, - JKCl +30,

1. KPO, +2HCI — S KCl + HPO,

122 CO, + HO —  HCO, 5Q

13. KO + HO — QKOH

2

14 Mg +JHCI -  MgCl, + H,

JKOH + HSO, =  KSO, +JH,0
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/3.2  Balancing Equations

Balance the following chemical equations.

1. 2 Agl + 1 NaS —™> _ 1 = AgS + 2 Nal
2. 1 NaPOs + 3 HCI —> _ 3  Nadl + 1  H3PO4
3. _1 BaN, +_6_ HO —> _3 BaOH), + 2  NHs
4, 1 TiCl, +_2 HO —> _1  TiO; + _4 Ha
5., _ 3 CaCl, + _2 NagPO, —> _ 1 Cas(POs) + _ 6 _ NaCl
6. 2 NaBr +_1 Ch —> 2  NaCl + 1 Bn
7. _ 1 Mg(OH), + 2 HOOL —> 1 MgCh + _2  HoO
8. _4 FeS +_7 02 —/> _2  Fel0s + 4 SO,
9. _1 PCs + _4 HO —> _ 1 HPOs + 5  Hd
10. _ 1  GHO + 3 0, —> 2 CO, + 3 HO
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/3.4 Balancing Equations

Balance the following chemical equations.

1. B8 Fe + 3  HS04 —> 1 FexSO4)3 + 3  H
2. 2  GHs +_ 7 0 —>» 6  HO +_4 CO
3. _3  KOH +_ 1 HPOy —> 1 KPOs + 3  HO
4, _1 _ Sn0; +_2  H —> _1_ sn +_2  HO
5 _4 N3 +_5 0 —> 4 NO + 6 HO
6. _ 2  KNO3 + _1 HCOs —> 1 KO3 + 2  HNO;
7. _1  BBre +_6 HNOs —> _ 2 B(NOs); + _6_ HBr
8. _2  BFs +_3 LiSOs —> _ 1 BySOs)s + _6 LF
9. _4 (NHgPOs + 3 Pb(NOs)g —> 1 Pby(POs)s + _12 NH4NOs
10. 1 SeClg + Oz — 1 Se0; + i3 Cl,

About Chemistry http://chemistry .about.com




